

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

SOMPO INSURANCE SINGAPORE PL 50 RAFFLES PLACE #05-01/06 SINGAPORE LAND TOWER

SINGAPORE 048623

INV No. AC2006109

INV Date 07/09/2020

Reference CS/SMO20008457/Uqf3n2

Code SMO



PROFESSIONAL SERVICE FEE

Vehicle No. SLD 9116C

Insured Veh. SKZ 1116B

Claim No. CMTD2002375/THE

Policy No.

Accident Date 12/08/2020

Inspection Date 14/08/2020

Description	Total
Survey Inspection	450.00
Resurvey Inspection	
Digital Photographs	
Transportation	
Subtotal	450.00
GST (7%)	31.50
Grand Total	481.50

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

HYN



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internationale Des Experts En Automobile				
SOM	DMPO INSURANCE SINGAPORE PL Ref : CS/SMO20008457/Uqf3n2				
#05-0		OWERSINGAPORE 048623	Date :	07-09-2020	
			Code :		
1.	I	Policy Particulars	T		01 B 04400
	Insured Veh.	SKZ 1116B		nspected	SLD 9116C
	Policy No.	ONTROCOCCE THE	Covera		0.00
	Claim No.	CMTD2002375/THE	Excess	• •	0.00
	Assign From	GRACE TEO	Assigr		14/08/2020
2.	T	Vehicle Partic	ulars &	Condition	
	Make & Model	HONDA MOBILIO (A)	c.c		1497
	Engine No.	HIDDEN	Year o		2016
	Chassis No.	MRHDD4870GP000191	Colour	•	BLACK
	Odometer	65623	Steerin		IN ORDER
	Brakes	IN ORDER	Modifie	cation	SPORTS RIM
	General	GOOD			
3.		Condition	ons of T	Tyres	
		Size	Make		Balance
	R/H Front Tyre	185/65 R15	PIRELL		6 mm
	L/H Front Tyre	185/65 R15	PIRELL	<u>l</u>	6 mm
	R/H Rear Tyre	185/65 R15	PIRELL		6 mm
	L/H Rear Tyre	185/65 R15	PIRELL		6 mm
4.		Description			
	THE VEHICLE SU	STAINED DAMAGES AT THE REA	AR AND	FRONT PORTION.	
	DAMAGES SEE D	ETAILS.			
5.		General	Inform	ation	
	Accident Date	12/08/2020	Inspec	tion Date	14/08/2020
	Survey held at	FASTECH AUTO PTE LTD			
		1 KAKI BUKIT AVENUE 6 #01-46/48/50 AUTOBAY SINGAPORE 417883			
5a.		Re	emarks		
		ON WAS CONDUCTED ON A"WIT CE TO YOUR INSTRUCTIONS, W			REPAIRS.
5b.	b. Estimate Days of Repair				
	ESTIMATED NORMAL PERIOD FOR REPAIR: 12 Working Days				



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLD 9116C

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR WINDSCREEN MOULDING	NECESSARY	161.10	105.20
1	TAILGATE	BADLY DENTED	1,266.30	1,099.20
1	TAILGATE "H" LOGO	NOT NECESSARY	45.00	-
1	TAILGATE "IVTEC" EMBLEM	NECESSARY	48.80	48.80
1	TAILGATE "MOBILIO" EMBLEM	NECESSARY	68.00	62.20
1	TAILGATE "RS" EMBLEM	NECESSARY	76.20	65.00
2	TAILGATE REFLECTORS @\$488.10	NOT NECESSARY	976.20	-
1	TAILGATE OUTER GARNISH	NOT NECESSARY	385.20	-
1	TAILGATE INNER LOCK	TWISTED / SHORTED	266.50	165.40
1	TAILGATE INNER TRIM	NOT NECESSARY	488.20	-
1	TAILGATE WEATHERSTRIP	TWISTED	299.20	188.20
1	TAILGATE LOCK BUZZLE	NOT NECESSARY	289.00	-
1	TAILGATE LOCK SENSOR	NOT NECESSARY	288.50	-
1	REAR BUMPER	DENTED / DEFORMED	825.00	463.70
2	REAR BUMPER SIDE RETAINERS @\$45.00	NOT NECESSARY	90.00	-
1	SET REAR BUMPER CLIPS	NECESSARY	50.00	35.00
1	REAR BUMPER TOP PROTECTOR	GRAZED	311.20	288.50
2	REAR BUMPER REFLECTORS @\$85.00	O/S SCRATCHED	170.00	62.00
2	REAR BUMPER SIDE GRILLES @\$105.00	NO SUCH PARTS	210.00	-
1	REAR END PANEL	DENTED / CRACKED	611.20	485.20
1	REAR END PANEL TOP GARNISH	TWISTED	199.80	199.80
1	REAR EXHAUST	NOT NECESSARY	688.90	-
2	TAILLAMPS @\$680.10	CRACKED	1,360.20	798.40
2	REAR FENDERS @\$1105.00	TO REPAIR SEE LABOUR	2,210.00	-
2	REAR FENDER INNER BOARDS @\$485.00	NOT NECESSARY	970.00	-
1	REAR FLOOR PANEL	NOT NECESSARY	1,120.00	-
1	REAR FLOOR PANEL TOP BOARD	NOT NECESSARY	660.00	-
1	REAR SPARE TYRE LOWER BRACKET	NOT NECESSARY	299.90	-

Report Ref No. CS/SMO20008457/Uqf3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	BONNET	BUCKLED	988.10	925.20
1	BONNET RUBBER	NECESSARY	85.00	62.00
2	BONNET HINGES @\$105.00	NOT NECESSARY	210.00	-
1	BONNET INSULATOR	NOT NECESSARY	295.00	-
1	SET BONNET INSULATOR CLIPS	NOT NECESSARY	50.00	-
1	BONNET LOCK	TWISTED	185.00	185.00
1	FRONT BUMPER	DISTORTED	745.90	566.85
2	FRONT BUMPER SIDE RETAINERS @\$45.00	BENT	90.00	90.00
1	SET FRONT BUMPER CLIPS	NECESSARY	50.00	35.00
1	FRONT BUMPER CENTRE GRILLE	TORN	211.20	146.20
2	FRONT BUMPER FOG LAMPS @\$650.00	CRACKED	1,300.00	710.00
2	FRONT BUMPER FOG LAMP COVERS @\$150.00	TWISTED	300.00	300.00
1	FRONT BUMPER REINFORCEMENT	DISTORTED	399.90	288.20
1	FRONT GRILLE	CRACKED	450.20	311.30
1	FRONT GRILLE OUTER CHROME	CRACKED	420.80	350.00
1	FRONT GRILLE "H" LOGO	NECESSARY	38.80	38.80
1	FRONT SUPPORT PANEL	BENT / TWISTED	745.20	664.20
1	FRONT SUPPORT PANEL TOP GARNISH	DISTORTED	288.80	182.30
2	HEADLAMPS @\$1580.00	CRACKED	3,160.00	2,360.40
1	AIR CON CONDENSER	BENT / PUNCTURE	1,100.90	866.20
1	AIR CON CONDENSER FAN COWLING	CRACKED	285.00	195.50
1	RADIATOR	BENT / CRACKED	1,866.60	1,415.30
1	RADIATOR FAN COWLING	CRACKED	285.00	195.50
1	RADIATOR FAN MOTOR	NOT NECESSARY	450.60	-
1	RADIATOR FAN BLADE	NOT NECESSARY	105.00	-
2	FRONT FENDERS @\$450.00	TO REPAIR SEE LABOUR	900.00	-
2	FRONT FENDER INNER SHIELDS @\$188.00	NOT NECESSARY	376.00	-
1	SET FRONT FENDER INNER SHIELD CLIPS	NOT NECESSARY	50.00	-
1	FRONT INLET MANIFOLD	SERVICEABLE	1,455.50	-
1	ALTERNATOR	NOT NECESSARY	1,205.00	-
1	DRIVER AIR BAG	ACTIVATED	2,120.30	1,855.40
1	DRIVER AIR BAG SPRIAL SENSOR	ACTIVATED	322.20	288.20

Report Ref No. CS/SMO20008457/Uqf3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	PASSENGER AIR BAG	ACTIVATED	2,884.80	2,238.20
1	AIR BAG CONTROL UNIT	ACTIVATED	1,250.00	805.50
2	FRONT SAFETY BELTS @\$850.00	JAMMED	1,700.00	1,300.00
	LESS 20% DISCOUNT		-	-4,088.37
			40,805.20	16,353.48
	SPECIAL NETT ITEMS			
1	SET REAR BUMPER REVERSE SENSOR (SN)	SERVICEABLE	280.00	-
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	50.00	40.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	50.00	50.00
1	SET REAR REVERSE CAMERA (SN)	NOT NECESSARY	380.00	-
1	REAR LICENCE PLATE W/HOLDER (SN)	SERVICEABLE	50.00	-
1	FRONT LICENCE PLATE W/HOLDER (SN)	BENT	50.00	40.00
1	BOL RADIATOR COOLANT (SN)	NECESSARY	50.00	30.00
			910.00	160.00
	<u>LABOUR</u>			
	TO CHECK WIRING.		80.00	30.00
	TO DISMANTLE & REPLACED REVERSE SENSOR.		80.00	50.00
	TO DISMANTLE & REFIX REAR WINDSCREEN.		150.00	120.00
	TO DISMANTLE & REFIX REAR EXHAUST.	NOT NECESSARY	100.00	-
	TO DISMANTLE & REFIX CUSHION UPHOLSTERY.		120.00	80.00
	TO REFILL AIR CON GAS.		120.00	100.00
	TO DISMANTLE & REPLACED AIR BAG.		380.00	250.00
	TO DISMANTLE & REFIX DASHBOARD.	NOT NECESSARY	380.00	-
	TO RESET & REPROGRAMME AIR BAG SYSTEM.		450.00	200.00
	TO SPRAY RUST PROOFING.		150.00	120.00
	LABOUR FOR PANEL BEATING & REPLACED PARTS.INCLUSIVE OF THE REPAIR OF REAR FENDERS AND FRONT FENDERS.		3,000.00	1,400.00
	TO PUTTY & SPRAY PAINTING.		2,800.00	1,800.00
			7,810.00	4,150.00
	GRAND TOTAL		49,525.20	20,663.48

Report Ref No. CS/SMO20008457/Uqf3n2



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		16,400.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/SMO20008457/Uqf3n2

CHUA KANG SENG Licensed Appraiser